MODEL QUESTION 04

1. Fill in each gap with a suitable word from the box. There are more words than necessary.

[of [the [for | at | which | adulterate | hardly | or | into |
The issue of food (a) — has drawn the attention (b) — general people. We (c) — find any food in our country
(d) — is not adulterated in one way (e) — other. (f) — present, sub-standard foods are sold in most of (g)—

— hotels. Very recently government has directed a mobile court to look (h) — the matter of food (i) —. They
are catching dishonest hoteliers red-handed (j) — using unhygienic food ingredients.

a d g i
b e h
c f i

2. Fill in the blanks with suitable words.

Bangladesh lies (a) — the active earthquake zone. It is (b) — to all Bangladeshis. Experts are alarmed by (c)
— recurrence of quakes during recent years. But they give no (d) — answer to the question (e) — safety
about the buildings of Dhaka city. As there is every possibility (f) — earthquakes in Bangladesh experts
should take adequate (g) —. Measures (h) — minimize the loss. RAJUK (i) — that an earthquake resistant
building code (j)— be developed.

a d 8 i
e h
c f i
3. Read the following table and make five sentences:

A B C
The piper the people a sweet tone.
He took up to the street and followed the piper.
To their utter surprise came saw rats coming out of the houses.
Thousands and thousands of | came to the bank | of the Weser and stopped playing the pipe.
rats
With all the rats, he began to play his pipe on his lips.

4. Complete the following text with right forms of the verbs given in the box:

lead have write resolve print

include vest represent speak bias

Mass media can play an important role in (a) — the present political conflict, (b) to make a culture of peace
and tolerance in the country. A news (c) — its truth, objectivity and non-partiality. Sourcing is very important
in news (d) — . No news (e) — which has the possibility to break the peaceful environment in society. It is
natural that newspaper will (f) — the people of the country (g) — the opinions, sentiments and hopes. But
a (h) — against the interest of the party and the (j) — quarters.
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5. Rewrite the following passage in the reported speech.
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"May | come in sir?" said the guardian. "Yes, come in, please", said the headmaster. The guardian said, "We
all the guardians along with, you must do something for the betterment of our children. They are losing their
morality." The headmaster said, "Let's plan something for their betterment.

6. Change the sentences according to directions.
(a) Once there lived a jealous queen. (Complex)
(b) She had only a step daughter. (Negative)
(c) The daughter was very beautiful. (Exclamatory)
(d) The queen ordered her huntsman to kill her. (Passive)
(e) Instead of killing her, the huntsman left her in the forest. (Compound)
(f) Once a prince came to the forest. (Complex) .
(g) As soon as he saw her, he was attracted by her beauty (Negative)
(h) In fact, she was more beautiful than any other girl he had ever seen. (Superlative)
(i) The prince fell in love with the girl and proposed to marry her. (Simple)

(j) She accepted his proposal gladly. (Interrogative)
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7. Complete the following sentences:

(a) It is character which

(b) earns respect from all.

(c) A person may be of blue blood but

(d) It is the childhood when

(e) It is high time

8. Complete the following passage using appropriate suffix or prefix to the words.
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We are living in a (a) — (democrat)— country. We have many (b) — (achieve) — though we live in (c) —
(poor) — . The country is gradually advancing towards (d) — (prosper) —. But, political (e) — (stable) —is
a barrier to the path of development. The (f) — (confrontation) — political environment of Bangladesh hits
the economy hard. Direct (g) — (product) — losses are estimated at around. Percent of GDP due to
descriptions in economic activities caused by political (h) — (disturb) — . For Bangladesh to comfortably
reach middle income status the country needs (i) — (last) — political stability investments to regain moment
and increasing female labour (j) — (participate) —.
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9. Fillin the blanks with tag questions.

(a) I am doing an important work. Don't disturb me, ?

(b) Rupa said to Mina, “How happy you are ina nuclear family, ?
(c) My cousin lives in a Village. He hardly comes here, ?

(d) I study in a good 'college. | am a student, ?

(e) Don't make late. Let's go, ?

10. Complete the passage using suitable connectors.

Dengu fever is a serious disease (a) — is caused by a sort of virus called Dengu Virus. (b) —, this virus was
identified in Africa. (c) — now it has spread all over the world. (d) —, in most cases dengu fever has its
remedy. It is better to prevent it. (e) — we keep our dwelling places clean and people are aware of it, we
can easily prevent this disease.

a c e
b

11. Use capitals and punctuation marks where necessary in the following text.

rina have you done your english lesson today asked the teacher yes sir she replied but i have not understood
one grammatical point would you please explain to me the teacher assured her saying ill help you to
understand the point
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